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總體93學年/下學期     期末考     班級：        學號：         姓名：
Williamson Ch 8-12, open macro(2005/6/23, 9:10-11:10 am)  
10點之前不得交卷         

總分110 分
I. 單選題 (每題4分，共40分)

注意：答案請寫在選擇題最後一題下面的答案格上。
選擇相關：1-7 (CH8-12)
1. When drawn against the real interest rate, the output supply curve is upward sloping because labor supply is

a) increasing in the real interest rate and labor demand is independent of the real interest rate.

b) decreasing in the real interest rate and labor demand is independent of the real interest rate.

c) independent of the real interest rate and labor demand is increasing in the real interest rate.

d) independent of the real interest rate and labor demand is decreasing in the real interest rate.
Answer: A
2. In the Keynesian sticky wage model, the aggregate supply curve is upward sloping because, at the fixed nominal wage, an increase in the price level
a) increases the real wage and increases labor supply.
b) increases the real wage and increases labor demand.
c) decreases the real wage and increases labor supply.
d) decreases the real wage and increases labor demand.
Answer: D
3.
An open-market operation refers to

(a)
changing the money supply by changing taxes.

(b)
changing the money supply by changing government spending.

(c)
an exchange of money for interest-bearing debt by the monetary authority.

(d)
an exchange of domestic money for foreign money by the monetary authority.

Answer:
C

4. In the intertemporal monetary model, the effects of an increase in the number of ATM machines in service include

(a)
an increase in the nominal interest rate.

(b)
a decrease in the nominal interest rate.

(c)
an increase in prices.

(d)
a decrease in prices.
Answer: C
5.   The marginal benefit from investment for a firm is equal to

(a)
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Answer:
C

6.   In the Friedman-Lucas money surprise model, a surprise increase in the money supply

(a)
increases the real wage and increases the real interest rate.

(b)
increases the real wage and decreases the real interest rate.

(c)
decreases the real wage and increases the real interest rate.

(d)
decreases the real wage and decreases the real interest rate.

Answer:
D

7.   Consumer choice theory predicts that, with identical consumers, pay-as-you-go social security

(a)
always makes all generations worse off.

(b)
makes some generations better off, and cannot make any generation worse off.

(c)
may make some generations worse off and cannot make any generation better off.

(d)
may be Pareto improving.

Answer:
D

8.    A demand for foreign exchange occurs in Taiwan when
     (a)  a Taiwan citizen wants to purchase stocks on N.Y. stock exchange.
     (b)  a Taiwan firm exports computers to the U.S.

     (c)  purchases of Taiwan corporate bonds by foreigners.

     (d)  Japanese citizens visit Taiwan.

Answer:
A

9. The higher the exchange rate, 
     (a)  the lower the dollar cost of imported goods and the higher the demand for foreign exchange.

     (b)  the higher the dollar cost of imported goods and the lower the demand for foreign exchange.
     (c)  the higher both the dollar cost of imported goods and the demand for foreign exchange.
     (d)  the lower both the dollar cost of imported goods and the demand for foreign exchange.
Answer:
B
10. In the Taiwan balance of payments, imports from Europe are recorded as a
(a) positive item in the current account.

(b) negative item in the current account.

(c) financial inflow item.

(d) financial outflow item.

Answer:
B
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II. 申論分析題：請做圖並說明過程。 (共70 分)

答案請直接寫在題目卷上。
CH10
1.
In the monetary intertemporal model, suppose that the money supply is fixed for all time. Determine the effects of a temporary decrease in total factor productivity  (六月中的中南部豪雨成災) on real output, price level, real interest rate, employment, and real wage.  Please draw graphs and explain your results. (15%)
CH12
2.
In the Keynesian sticky wage model, suppose that the money supply is fixed for all time. Determine the effects of a temporary decrease in total factor productivity  (六月中的中南部豪雨成災) on real output, price level, real interest rate, employment, and real wage.  Please draw graphs and explain your results. (15%)
CH12
3. Suppose initially labor supply is equal to labor demand.  Now the firm anticipates lower total factor productivity in the future because of the swings of cross-strait policies. Consider this as a negative shock to the demand for investment goods in the Keynesian sticky wage model.
(a)  Determine the effects on real output, price level, real interest rate, employment, and real wage. Please draw graphs and explain your results. (10%)

(e) Determine the effects if monetary policy is used to stabilize the economy with the goal of monetary authority being zero Keynesian unemployment. Please draw graphs and explain your results. (10%) 
4. 1980年代前的台灣，匯率固定在新台幣40元兌換1元美金，此時幣值低估：

(1) 假設台灣政府還是持續採行固定匯率制度（假設央行沒有沖銷措施），請由「市場自動調節機能」的調整過程，說明幣值低估對台灣外匯存底、國民所得、物價、實質利率、出口、進口、金融帳、與國際收支帳的影響。（14%）
(2) 假設台灣改採浮動匯率制，匯率將如何調整？匯率調整至均衡水準時，外匯存底與國際收支帳應如何？（6%）
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